
Математик
а



Вычислите 
цепочкой

81:27+15*6-69
81-60:4+46

88:11+12*6-48
71-30:2+36

56:14+14*7-56



Сравни
те

320 кг…32 ц  57 м….570 см  35ц….5 т 3 ц
36 ч….3 сут.   3 ч. 7 мин…370 мин.
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Решите 
задачуВ пяти одинаковых коробках 35 мячей. 

Сколько мячей в трех таких же коробках?
1.35:5=7 (м.) – в 1 коробке.

2. 7*3=21 (м.)

Ответ: всего 21 мяч.



Найдите площадь

4 см

14 см



Заполните пропуски
Литературный вечер……….…….в 
17.50, а …………  в 13.50. Сколько 
времени …………. литературный 
вечер?

закончился
начался
длился



Решение задач

Вспомним
… Будем 

решать….


